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Section : General (English & Hindi)

Q.1  Select the most appropriate option to fill in the blank:
The natural beauty of the Indus Valley is beyond description but the river
Ans o 1 jtself
& 2 herself
/< 3. oneself
& 4 himself

is very muddy.

Question ID : 7193992916
Status : Answered
Chosen Option : 2

Q.2 Select the correct passive form of the given sentence:

The new findings of the space scientists will improve existing models of solar systems.

Ans x1_

Existing models of space scientists will be improved by the new findings of the solar systems.

~ 2

Existing models of solar systems will improve the new findings of the space scientists.
V'3

Existing models of solar systems will be improved by the new findings of the space scientists.

X 4

Existing models of solar systems have been improved by the new findings of the space scientists.

Question ID : 7193992919
Status : Answered
Chosen Option: 3

Q3 Select the INCORRECTLY spelt word:

Ans  of 1. Conscencious

< 2. Conspicuous

e CAHE Courses & Test Series Available For All Teaching Exams
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< 4 Conscious

Question ID : 7193992926
Status : Answered
Chosen Option : 2

Q4 Select the most appropriate ANTONYM of the given word:

INTEGRITY

Ans X 1. Dependability
< 2. Truthfulness
/< 3. Reliability
« 4 Dishonesty

Q5 Select the most appropriate synonym of the

FARCICAL
Ans X 1. Persistent
&< 2. Sarcastic

' 3. Absurd
< 4 Serious @

Question ID : 7193992922
Status : Answered
Chosen Option: 1

Q.6  Select the optie

Father said to his

Ans ?{ 1. %
“T am not wishing to see an& may go away and leave me alone for some time.”
v 3
“Idon’t wish t ﬁ@m}. Go away and leave me alone for some time.”

~ 3

to any of them. They should go away and leave him alone for some time.”

wish to see any of vou. Go away and leave him alone for some time.”

Question ID : 7193992930
Status : Answered
Chosen Option : 2

Q7 Video Courses & Test Series Available For All Teaching Exams
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Select the most appropriate option to fill in the bla.nE age 3

The conductor of the bus swam towardsthe  child in an effort to save him.
Ans  of 1. drowning
< 2 sunk
#< 3. drowned
#< 4 sunken

Question ID : 7193992913
Status : Answered
Chosen Option: 1

Q@8 Select the most appropriate option to fill in the blank: A4 &
No country lets you enter it you have proper docu \
Ans X1 0f
# 2. because ’\ Q

v 3 unless
X 4. 5o that

atus : Answered
Option: 3

Q.9 Select the option that expresses mg@i : sp ;

“I don’t like the pattern of the @' ou have made for me,” said to me.

2
Esha told me that:
2

Ans x 1.

she didn’t like': % of the dQQ made for me.

i e

e'the patte you have made for me.

o 2 shedidn’t like the pattepd of the dress I had made for her.
S Q
she didn’t like the n e dress you have made for her.

Question ID : 7193992929
Status : Answered
Chosen Option : 3

Q.10 the ‘most appropriate option to fill in the blank:
This is one the rooms in this hotel.
Ans  of 1. picest
< 2 pice

<3 mpei€ourses & Test Series Available For All Teaching Exams
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< 4 nicer

Question ID : 7193992914
Status : Answered
Chosen Option : 2

Q.11 Select the correct passive form of the given sentence:

The landowners allowed the peasants only a few weeks to simply pack and leave the land.

Ans (1_

The peasants were allowed by the landowners only a few weeks to simply pack and leave the land.

x 2

The peasants have been allowed by the landowners only a few weeks to simply pack and leave the land.

-

~ 3 *

Only a few weeks are being allowed by the landowners to the peasants to simply pack and leave the

X 4

The landowners were allowed by the peasants only a few weeks to simply pack and leave the la

Q.12 In the following sentence four words or phrases have been underlined. One o

Ans o 1. getting to hold
< 2. Once I saw @

X 3. pack of dogs

X 4. tearing at hi *
L4 Question ID : 7193992927
Status : Answered
Chosen Option : 4
Q.13 select st appropriate optio lank:
Tomorrow, definitely, is telephone to VSNL. It just doesn’t work.

Ans

& 1. surrendered

Question ID : 7193992912
Status : Answered
Chosen Option: 3

Q14 Select the correctly spelt word:

Ans X 1. Preferrable
v 2 Midaanieourses & Test Series Available For All Teaching Exams
For Details about CTET, DSSSB, KVS, WhatsApp: 7428609761 (Do Not Call)




P
& 3. Priferable age 5

/< 4. Prefarable

Question ID : 7193992925
Status : Answered
Chosen Option : 2

Q.15 Inthe following sentence four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options:

©On Monday. six special trains meant to transport stranded labourers from Kerala to three eastern states was pressed into
service.

Ans X 1. On Monday \
< 2 from Kerala
#< 3. meant to transport \\ «
L)

o 4 was pressed

Status:
Chosen Op

Q.16 Select the option that is NOT an antonym of another word
Ans X 1. Unmeasured

/< 2. Undecided

< 3. Unfamiliar

« 4 Underhand @
Question ID : 7193992924

Status : Answered
Chosen Option : 4

e when they came to Mumbai.

Question ID : 7193992918
Status : Answered
Chosen Option : 3

Q.18 e most appropriate synonym of the given word:

OBLIGATORY
Ans X 1. Flexible
« 2. Essential

X 3 Efideg'€ourses & Test Series Available For All Teaching Exams
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Question ID : 7193992921
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate option to fill in the blank:

Stones were in abundance in the valley. The Jews collected and carried by ox cart to their establishment.

Ans X 1 us
v 2 them
#< 3. their
< 4 they

Q20 gelect the most appropriate option to fill in the bl

Their house is under repair. They i @d
Ans X 1. have lived

« 2. are living

/< 3. were living % (L
< 4 lived @

@ X3 Status : Answered
Chosen Option : 2

®
G g A A=) YL w7 &
as o . |
X2 Fr 39 e
X o T = e |
v S 3T AfT)

Question ID : 7193992942
Status : Answered
Chosen Option : 4

V2 ondr ST X THS 7 ST ST H N g
M srcafte FeE g

Kz %@ E@ir_é‘@ & Test Series Available For All Teaching Exams
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K3 H9H H BT I5AT J

< 4 T e

Status : Answered
Chosen Option : 1

Question ID : 7193992941 ]

% yme NEEHR FT IR

e XK T & RREe 3R AT
v 2 FAF FeAk d H T, AGhar Al \
X3 Tg Fram § o oW 338 Fr o ‘\% b
A4 FER =T MR e Enl \ «
. 719399294
S

Q.24

Ans

Question ID : 7193992932
Status : Answered
Chosen Option : 4
Q.25 B : . )
N\ V
v 2 gu-@er \%
X 3 girem-efte
X 4 i
Question ID : 7193992937
Status : Answered
Chosen Option : 2

V% EfeT gfeer @ anE TE ¥
Ans X1 TSN - STOTES
v I3 - Y

Video Courses & Test Series Available For All Teaching Exams
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Question ID : 7193992950
Status : Answered
Chosen Option : 2
07 sraE F aeT o W T v ¥ fea e aiw
K s et
X2 g3
Vs gy % b
X4 geeig \
'
2 BT @ 9T
Ans X1 &
&2 aH
<3
v . Faot
@ L 4 Question ID : 7193992936
¢ Status : Answered
Chosen Option : 4
Q.29

Ans

Q.30

Ans

Question ID : 7193992933
Status : Answered
Chosen Option: 3
H & vEaud T @r 27
< 1. T
v 2 fafear

.2 %'deo Courses & Test Series Available For All Teaching Exams
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24 aregrfETe
Question ID : 7193992949
Status : Answered
Chosen Option : 2
Q.31
IrST FT AT T B
ns - X TR

X 2. HET

Q.32

Ans

Status : Answered

Question ID : 7193992938
Chosen Option : 2

FETRT B

Status : Answered

Question ID : 7193992940
Chosen Option : 2

K3 =T+ g=or
Video Courses & Test Series Available For All Teaching Exams
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Status : Answered
Chosen Option : 4

Question ID : 7193992943 ]

Y R T YA AT == &
Ans Xym
< 2. ggfr

Pl \
v o Y

AT wm T T T R A E ’\

Ans

X . gesiaar - gl Q
A2 gg- %

V'3 o - araEe
Ko aut - auiat \&

X 4

Q.37 ma;%vym T *
Ans «1.

Status : Answered

Question ID : 7193992948
Chosen Option : 1

Question ID : 7193992946
Status : Answered
1

Chosen Option :

HETEY & Y g
97 eOTe o ST

v 2 g SAIT FIH F TS
X 3 FH FATT

' ﬁiﬁeﬁot—i@és & Test Series Available For All Teaching Exams
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Question ID : 7193992939
Status : Answered
Chosen Option : 2

@Y gFr F BT goEe o BT
s of 1 ofygr

<2 ge

< s =T

X 4 =T

1 7193992931
G40 o + 3T = o FT TR AT T
Ans X1~ ﬁ ﬁ a *

swered !
< 2 ot gfer Q

X o 0 ng
v o 3ranfE |@fer
estion ID : 7193992944
Status : Answered

Chosen Option : 2

Section : General Awareness

<
Q-1 YWhich of the followi rsons was gi el Ratna Award 20187
Ans  of 1 Mirabai @ Q
. & Kom Q
< s swini Savant
< 4 PV Sindhu

\.: Question ID : 7193992962

Status : Answered
Chosen Option : 4

/< 3. Hyderabad
/X 4. Banaras

Question ID : 7193992977

Video Courses & Test Series Available For All Teaehingndwxams
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Chosen Option : 1

Q.3  Which of the following Articles of the Constitution of India deals with ancillary powers of the Supreme Court?
Ans X1 Article 186

< 2 Article 85

V'3 Article 140

& 4. Article 63

Question ID : 7193992970
Status : Answered
Chosen Option: 1

& 2. United States of America
< 3. Germany

/< 4. United Kingdom

Q.4 Which country has unveiled the world’s first floating nuclear power station® %
Ans  of 1. Russia \ «

@5 Who penned the novel ‘A Suita

Ans X 1. Shashi Tharoor
#< 2 Vikram Chandra @

< 3. Amitav Ghos @
o 4 Vikram Se

Question ID : 7193992980
Status : Answered
Chosen Option: 2

acific seat on the UN’s Committee on Economic, Social and

Question ID : 7193992951
Status : Answered
Chosen Option: 2

Q7 Where there is only one House of the Legislature of a state, it is known as:
Ans X 1. The Council of States

<> Thgbesklalivesowethst Series Available For All Teaching Exams
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/< 3. The House of the People Page 13

' 4 The Legislative Assembly

Question ID : 7193992967
Status : Answered
Chosen Option : 2

Q8 Name the novel that features India’s national song ‘Vande Mataram'?
Ans 51 Rajsimha
v 2. Anand Math
# 3. Durgeshnandini
X 4. Kapalkundala

e nID:71939
Status : Answered
en Option :

Q.9 What s the name of the app launched by Union Ministry of Commerce and Industry for s Al
country?
Ans X 1. Vyapar Vikas %
« 2. Niryat Mitra
X 3. Aayat Mitra (L
< 4. Vyapar Mitra v

@ Question ID : 7193992973

Status : Answered
Chosen Option : 2

t wvernment for FY 20187

Ans
< 3 20,000 Crore
& 4 T 10,000 Cro
Question ID : 7193992971
Status : Answered
Chosen Option : 1
an g the following is a base?
Ans : 504
+ 2 NaOH
< 3. HNO,
« 4 HCl

Video Courses & Test Series Availa
For Details about CTET, DSSSB, KVS, WhatsApp: 7428609761 (Do Not Call)
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Question ID : 7193992974
Status : Answered
Chosen Option : 2

Q12 Name the Sultan of Delhi who shifted his capital from Delhi to Deogiri?
Ans X 1. Alauddin Khilji

# 2 Tbrahim Lodhi

« 3. Muhammad Bin Tughlak

< 4 Quibuddin Aibak

1 7193992964

Q13 A cell is enclosed by a thin outer laver called:

Ans  of 1. Cell membrane !®

X 2. Celluloid

: Answered !

X 3. Cell guard \
X 4 Nucleus %

Q.14 Which country has ventured into the Internet of

“‘Marathon’?
Ans  of 1. Russia @ .
X 2. United Stat M ca

Status : Answered
Chosen Option : 1

L 2
#< 3. United Ki
X 4
: v Question ID : 7193992957

Q.15 Which of the following countri i a contribution-based social security scheme for formal sector workers
in November 2018?

Ans (1.N a
~ 2 %
i Lanka

Idives

Question ID : 7193992956
Status : Answered
Chosen Option : 3

@1 Where 4 tiso@isunete BTt \Sidtide FaveiiabléofastdAll Teaching Exams
For Details about CTET, DSSSB, KVS, WhatsApp: 7428609761 (Do Not Call)
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« 2 Odisha
X 3. Goa
< 4 Maharashtra

Question ID : 7193992978
Status : Answered
Chosen Option : 1

Q.17 How many security and intelligence agencies have been authorised by the government to intercept, monitor and decrypt

any information generated. transmitted, received or stored in any computer, as per government notification dated 20th
December 20187

Ans (1_ 10
X2 8 ¢ \E
X3 6 \

X412

Q.18 Which Nawab of Bengal was defeated by the British fore

Ans o 1. Siraj-ud-daula
< 2. Mir Jafar
/< 3. Mir Qasim @

Question ID : 7193992963
Status : Answered
Chosen Option: 3

X 3. GSAT-6A
v 4 GSAT-7A

Question ID : 7193992955
Status : Answered
Chosen Option : 4

er has P. V. Sindhu defeated to win her maiden World Tour Finals title in December 2018?

Ans

& 2. South Korea
« 3 Japan
& 4 Indonesia

Video Courses & Test Series Availa i ms )
For Details about CTET, DSSSB, KVS, WhatsApp: 7428609761 (Do Not Call)
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Question ID : 7193992960
Status : Answered
Chosen Option : 3

Question ID : 7193992959
: Answered

Q.21 Which of the following Indian women weightlifters won gold medal in the Commonwealth Games 20182
Ans X 1. Saraswati Rout
+ 2. Punam Yadav
/< 3. Purnima Pandey
& 4. Vandna Gupta
Q.22 Which of the following articles of the Constitution of India deals with the creation of Legislative Councils in
Ans X 1. Article 223
V2 Article 169 . A
X 3 Article 233 \
< 4 Article 121
Q.23 Department of Industrial Policy and Promotion (

i i ion (DIPP)i rship with energy c anies, a
Programme for startups in energy secti
#< 1. Collaborate to Inn

Ans

< 2 Integrate to E @ ¢

/< 3. Collaborat

« 2 Integra

Question ID : 7193992972
Status : Answered
Chosen Option : 1

Q.24

Ans

The distance- tjme perfor  objects.

&< 1. non-movi g

Question ID : 7193992975
Status : Answered
Chosen Option : 1

Q.25
Ans

Which of the following chief ministers has been conferred the Skoch Chief Minister of the Year Award for 20187

v 1. Mideca@oveges & Test Series Available For All Teaching Exams
For Details about CTET, DSSSB, KVS, WhatsApp: 7428609761 (Do Not Call)
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& 2. Vijay Rupani age

& 3. Nitish Kumar
< 4 Naveen Patnaik

Question ID : 7193992953
Status : Answered
Chosen Option : 2

Q.26 The total number of ministers, including the Chief Minister. in the Council of Ministers in a state cannot exceed
of the total number of members of

Ans X 1. 10 %: the Legislative Assembly of that state
o 2. 15 %: the Legislative Assembly of that state
< 3. 10 %; the Lok Sabha
25 4. 20 %; the Lok Sabha

Q.27 Which one of the following is the most populous city or urban

Ans X 1. New Delhi
« 2. Mumbai
X 3. Chennai

& 4 Kolkata @
@ Question ID : 7193992979

Status : Answered
Chosen Option: 1

L 2
2
IFA Foc}tbb 2018 held in Russia?

Question ID : 7193992961
Status : Answered

Chosen Option : 4

« 3. M. Nageswara Rao
#C 4 Manish Sinha

Video Courses & Test Series Available For All tieaiohing €%2ais
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Chosen Option : 1

Q.30 An Ordinance promulgated under Article 213 of the Constitution of India can be withdrawn by the:
Ans X' 1. Vice-President

& 2. Home Minister

« 3 Governor

& 4. Finance Minister

Question ID : 7193992969
Status : Answered

Section : General Aptitude

Q.1 Inacode language, SUNSET is written as RTMRDS. How will CHALK be written as in that |

Ans « 1. BGZE]
< 2 JKZIB
< 3. JKZGB
< 4 BIZKJ

Q2 The total number of factors o

Ans  of 1. 5832

X 2 3584 \@

X3 1792 .
& 4 90
K Q Question ID : 7193993001

Status : Answered
Chosen Option : 4
1 1 3 | g
f—+ + + is:

48 8x12 12x16

Question ID : 7193992997
Status : Answered

Video Courses & Test Series Available For AR"FeReling Exams
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Q4 Arrange the following words to form a meaningful sentence.

Taj Mahal |at A | quick |look
5 1 3 2 4

Ans  X1.5.1,2.3.4
K 24372 5
s 3,241,5
K 41,2345

Ans X1 g
<24
VER
X4 7

Q6 The value of 0.6 + 0.49 + 0.

Ans X 1. 1.489 @
< 21603 \

K3 1589 @'
v Q
Question ID : 7193993000
Status : Answered
Chosen Option: 3
Q.7
IfvV52— 30@%?)@ then (a + b) is equal to:
Ans x 1. Q

Question ID : 7193992999
Status : Answered
Chosen Option : 1

Q.8 Video Courses & Test Series Available For All Teaching Exams
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A person covers first 100 km with a speed of 60 knv'h and next 150 km mg@d ggkmfh What is his average
speed for the whole journey (in km/h)?

Ans X 1.52.5
X2 535
X3 528
v 150

Question ID : 7193993009
Status : Answered
Chosen Option : 4

Q9 = =fFF e AR # BT 759, F9 7T ¥ 25% 3w Sea W REET Fwa §) 9w s

WA FT 40% BFar 3ifed #ew W, WA @ 35% T 12% #F ge W AN A Rewr 16% € ge

T AT ¥ 5% o ow sfeerm amer wrew gam 32 L 2 \E

Ans X1.15.25% \\

X2 15.75% ®
v 3 14.75% A

< 4 16.25%

/< 2. Sunday

Q10 If | January 2018 was a Monday, then whiat day was it on 1 T
Ans X 1. Wednesday @
3.
« 3. Tuesday @ .
X 4. Monday *

& Question ID : 7193992990

Status : Answered
Chosen Option: 3

Q.11 Select the option is related to the thi in same way as the second term is related to the first term.

Horse : Jockey :: Car: ?

Ans X1 Brake @\

X 2. Steerin

Question ID : 7193992982
Status : Answered
Chosen Option : 1

@12 The unit’s digit in the result of (41)29 4 (23)* — 2718 js:

Ans

x Yideo Courses & Test Series Available For All Teaching Exams
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Vs s
<40

Question ID : 7193992998
Status : Answered
Chosen Option : 3

Q13 Tfa:b=4:5andc:b=2:3, then what is the value ofa: b : ¢?
Ans X'1.12:5:10

X 28:10:15
V3 12:15:10 .
K 415:10:8

Q.14 Select the option that is related to the third term in the same way as the second ter: at
Reading : Knowledge :: Work : ? %
Ans 1. Engagement
« 2. Experience
/< 3. Employment v

X 4. Experiment @

Question ID : 7193992983
Status : Answered
Chosen Option : 2

Q.15 What is the sum of dl. mber that should be 9648 to make it a perfect square?
Ans x 1.

7 2

~< 3

o x9D

Question ID : 7193992996
Status : Answered
Chosen Option : 4

2&Tar B Fr geTar © 30% A ¥ il U WY FH e 9§ 20 feat A
ST 97 &Y TES §1 A 3 30 FH F1 70% S Fa faad femt # @

x3- 36

Vdeo Courses & Test Series Avallable For All Teaching Exams
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Page 22 Question ID : 7193993010

Status : Answered

Chosen Option : 2

Q.17 Two vessels A and B contain spirit and water in the ratio 3 : 4 and 5 : 8 respectively. Their contents are mixed in the

ratio 7 : 13. In 200 ml of this solution, how much water should be mixed to get a solution containing spirit and water in

the ratio 4 : 92

Ans X1 56 ml
v 2 60 ml
< 3 49 ml
< 4 42ml

Q18 Ram’s mother is also my sister’s mother. How is Ram related

Ans  of 1. Brother .
< 2. Uncle
& 3. Cousin
& 4 Sister

: 7193993008
wered

ID: 7193992992
Status : Answered

Q.19 fr=fafea & @ 38 ReeT &1 959 1 =
9ge 9 T FaEtaa §l

AT : A o Ao - ? \@ L 2
Ans X1- ﬁ'ﬁ’

4’2@%‘_&

X3

1 ?N

\% Question ID : 7193992981

Status : Answered

Chosen Option : 2

Fictitious | Frivolous | Fickle
3 74 4

Ans

X1 504%
X L3 435

V14,325
Video Courses & Test Series Availa
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Question ID : 7193992984
Status : Answered
Chosen Option : 4

Q.21 gelect the option that will replace the question mark (?) in the following series.

21,32,43,?,65.76
Ans X1 66

V2 54

< 3 50

X4 62

Q.22 Arjun is facing towards the south. From there, he walks 15 m towards the east, then 20 m towards the no, y
towards the east and then 20 m towards the north to reach point B. What is the shortest distance between his sta
point and point B? ’

Ans «1. 30 m

&2 70m \ @
K3 25m

X 4 60 m %

tion ID : 7193992993
Status : Answered
Q.23 The HCF of two numbers is 18 and their p: %ﬂl are three-digit numbers,
reciprocals?
L 4
Ans ig

Chosen Option : 1
.
756

t is the sum of their

Question ID : 7193993002
Status : Answered
Chosen Option : 1

< 3.12.8%

<4 132% . : :
Video Courses & Test Series Available For All Teaching Exams
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Page 24 Question ID : 7193993005
Status : Answered
Chosen Option : 1

Q.25 Tn a code language, SUN is written as NUS. How will MAT be written as in that language?
Ans x 1. MAT

X 2 TUM

v 3 TAM

X 4 MUT

Question ID : 7193992987
: Answered

Q.26 Five friends, Avanti, Vishakha, Kiran, Deena and Hansika, are sitting around a circular table facing the centre. Vish

is sitting second to the right of Deena. Avanti is sitting third to the left of Kiran, who is not sitting immediately
Hansika. Who is sitting to the immediate right of Deena?
Ans =
< 1. Avanti

< 2. Hansika

#< 3. Vishakha
V' 4 Kiran
D : 7193992994
atus : Answered
Option : 1
Q.27 If “+ means ‘multiplication’, *—" means ‘division’, **means *a *and */° means ill be

the value of the following expression?

190-19+6*8/3

Ans X 1. 380
v 2 65
X 3 155

L 4
9 '
v Question ID : 7193992989

Status : Answered
Chosen Option : 2

Q.28 The average of 19 numbers is 7, ve! the first 10 numbers is 65 and the average of the last 10 numbers is 74.

If the 10% pumber is exclude verage of the remaining numbers, correct to one decimal place?

Ans X1~ 7
X 2 TA6

4.5

Question ID : 7193993006
Status : Answered
Chosen Option: 1

29 Video Courses & Test Series Available For All Teaching Exams
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Study the following sequence carefully and select the number that will B‘ég;%pgbghe question mark (?) in it.

628:16,593:17,495:18,315:7
Ans x-]_ 29

v 2 09

<310

X415

Question ID : 7193992986
Status : Answered
Chosen Option : 1

Q.30 Sakshi is the wife of Nilesh. Ravi is the only grandson of Saroj. who is the wife of Dinesh and Mother-in-law of Sakshi.
How is Nilesh related to Dinesh?

Ans  of 1. Son
& 2. Nephew
< 3. Son-in-law
# 4 Grandson

Section : Teaching Aptitude

Q.1 sma TR Fr o § ¥ 3w & giee @ s 3
w98 & == situaite Rer & Gt &
Ans 1. NIOS

v 2 SPQEM

Lo xO

Status : Answered
Chosen Option: 1

‘
Q 2 Question ID : 7193993016

Q.2 Anocopa uttered the first word at thejage of egan to play alone with her doll at the age of 2 years. These
schedules of development are called:

Ans 1. stepwise t
- milestenes velopment

v )
P! phases

phases

Question ID : 7193993011
Status : Answered
Chosen Option : 4

Q.3 Mary is a seventh grade teacher. She has a unique ability to sense the feelings and experiences of her students and fully
appreciates them as if they are her feelings. What is the correct term that can be used to describe Mary’s personality?

ans  x 1. pideg;eourses & Test Series Available For All Teaching Exams
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X 2. High acceptance

« 3. Empathetic
< 4 Genuine

Question ID : 7193993030
Status : Answered
Chosen Option : 3

Q.4 The processing of cognition influenced by stored knowledge brought through senses is called:

Ans 1. lateral processing

X 2. sideways processing
« 3. top-down processing

& 4. bottom-down processing

Q5 Which of the following is NOT a factor aff

Ans 1. Imitation and identification
< 2. Socio-economic status

« 3. Evolutionary impact

X 4. School experiences

Question ID : 7193993013
Status : Answered
Chosen Option : 3

Q.6  Which of thi jecti caching science at secondary level?
Ans
To deve - vation. identification and classification
To develop in the children an un @h earth as the habitat of humankind and other forms of life
X 3.
To sensitise the children and develop in them a respect for difference and diversity

social and economic issues and challenges like poverty, child labour,
s other dimensions of inequality

Question ID : 7193993026
Status : Answered
Chosen Option : 3

Q.7 Teaching about the currency used by the Cholas by showing a coin of that time kept in a museum in the real time is an
example of teaching.

Ans 1. Diorama

v 2 Rgaliso Courses & Test Series Available For All Teaching Exams
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< 4 sectional model

Question ID : 7193993028
Status : Answered
Chosen Option: 2

Q8  wWhich of the following instruments is used to measure attention span?
Ans o 1. Tachistoscope
/< 2. Kinetoscope

< 3. Stereoscope

X 4. Stroboscope

estion ID : 71939
Status : Answe
en Option :

Q.9 A student trying to solve a mathematical problem to get *A’ grade in his assi
Identify the type of attention as described by psychologist Ross.

Ans 1. non-volitional attention
& 2 focused attention

#< 3. involuntary attention

« 4 volitional attention

Question ID : 7193993018

@ Status : Answered
: ; V'S Chosen Option: 1
Q.10 When the function of a lan, is tehcause of prevent actions, it is,éa i
Ans e [ C

‘ function of a language.

\ Question ID : 7193993020

Status : Answered
Chosen Option: 3

w of Exercise
X 3. Law of Effect
« 4 Law of Readiness

Question ID : 7193993017
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Chosen Option: 2
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Q.12 Who quoted the following on education?

“Education which will offer the tools whereby one can live for the divine, for the country, for oneself and for others and
this must be the ideal of every school which calls itself national.”

Ans 1. Rabindranath Tagore

« 2. Sri Aurobindo
& 3. Swami Vivekananda
< 4 Mahatma Gandhi

Question ID : 7193993015

Q.13 Anil, a d-year-old, looks at two jars meant to be filled with candies. One is a tall. thin jar and the other one is a short,
wide jar. Equal mumber of candies are filled in each of these jars. Anil infers that the tall, thin jar has more candi
the short, wide one. Which of the following aspects has Anil NOT acquired as per Piaget?

Ans X 1. Social concept q
L 2
< 2. Memory \ QQ

/< 3. Imagination

« 4. Concept of conservation

Question ID : 7193993012
Status : Answered
osen Option : 4

Q.14 While teaching science to students, knowledge about cog sks. including appropriate contextual and conditional

knowledge, falls under

Ans X" 1. conceptual

Question ID : 7193993027
Status : Answered
Chosen Option: 1

X 4 reading

Question ID : 7193993022
Status : Answered
Chosen Option : 2

LLILS
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Q.16 Which of the following is a NOT a characterilszil%%?a%gable hypothesis?
Ans 1. Tt should be closest to things observable.

/< 2. It should be capable of being tested.

/< 3. It should have conceptual clearness.

« 2 It has to be lengthy with high vocabulary usage.

Question ID : 7193993029
Status : Answered
Chosen Option : 4

Q.17 Identify the model of inclusive education in which a student is included during regular education classroom instruction
to provide the student appropriate interaction with non-disabled peers. The student is given shortened assignments.

Ans 3 1. Pull-out (resource) model

# 2 Self-contained model
+ 3. Social mainstreaming model

< 4 Non-academic model

Q.18 Which of the following attributes of educational objectives of teaching scienc:

Ans X 1. Receiving
X 2. Responding @
' 3. Articulation
X 4 Valuing \
L 2
Question ID : 7193993023
K Status : Answered

Chosen Option: 3

Q.19 gt orer i s9-cugTer S Feanelt i

oeg FH AT oeg U F FEEt @

Question ID : 7193993021
Status : Answered
Chosen Option : 4

Q.20 wiegr foer g 3R b #1 Fww= AR 3= RS T FE F ofEe = F s 5 g
S
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< 3. AT ST
< 4 HAfre gaEaT

Question ID : 7193993024
Status : Answered
Chosen Option : 1

Section : Concerned Subject Knowledge

Q@1 The induced e.m.f in a conductor is:
Ans  of 1. directly proportion to the rate of change of flux

L 2
~ 2 \
It is not inversely or directly proportion to the rate of change of flux.

)
directly proportional to the total flux associated withythe,conductor Q

#< 4. inversely proportion to the rate of chang \

v i 5454 K
X 2 4000 K

Q.2 A body at 15000 K emits maximum energy at a wavelen, 0 A. If the sun emits ener;
wavelength of 5500 A, what would be the temperature of th ?
%, /\
X3 3500K \@

X 4 8000 K @

Chosen Option: 2

L 2
L 4
Question ID : 7193993081
Status : Answered

Q.3 If point charge q s placed at the cen a cubg, what is the flux linked with each face of the cube?

Ms X1 q/8e \
< 2 q/3g,

Question ID : 7193993055
Status : Answered
Chosen Option : 4

Q4 The output of a NOR gate is HIGH if

Ans o 1. all inputs are low
Vidgo Courses & Test Series Available For All Teaching Exams
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X 2. any input is low
X 3. any input is high
#< 4. all inputs are high

Question ID : 7193993087
Status : Answered
Chosen Option: 1

Q.5 If a magnetic needle is kept in a non-uniform magnetic field, it experiences:

Ans 1. a force but not a torque \

& 2. neither a force nor a torque
« 3 a force and torque
X 4. atorque but not a force

Q6 p a dielectric, the polarization is:

Ans 1. an exponential function of the applied elegtric field
&2
not a linear, square or an exponential f the applied e ie fi

« 4 a linear function of ed electric field
L 2
‘ Question ID : 7193993056
Status : Answered
Chosen Option : 4
Q7 The ico™1s equival :
Ans  of 110

oS e %
X3 1014 \
X 44015 @'

Question ID : 7193993031
Status : Answered
Chosen Option : 1

Q.8 A body of mass 3 kg, moving along a straight line, splits into two parts of mases 1 kg and 2 kg due to an internal
explosion which generates a kinetic energy E. If after the explosion, the two parts move along the same line as before

with a relative speed of 4/30ms™ . then E is equal to:

Ans  of 1107

X2 207
x 3. Migeo Courses & Test Series Available For All Teaching Exams
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Question ID : 7193993039
Status : Answered
Chosen Option : 2

Q9 a4 step-up transformer with an 1 : 8 turn ratio has 60 Hz, 120 V across the primary. The load in the secondary is 10*
Ohm. The current in the secondary is:

Ans X1 12 mA
X212A
<3096 A
v 4 96 mA

: 7193993070

io
us: Answered

e tion: 4

Q.10 Two scap bubbles P and Q. both spherical, having diameters 6 cm and d cm, coalesce. Thus, they have o
common surface of radius of curvature 12 cm. Find the value of d. ’

Ans X1. 10
N\ ;6O
<311 %

<409

stion ID : 7193993050
Status : Answered
Chosen Option : 2

Q@11 Electrons can be acgele very high engrgies by means of:

Ans  of 1. cetatron .
X 2. cyclotro; @
wom T R
< 4@11

Question ID : 7193993064

Status : Answered
Chosen Option : 2

stage, team A pulls team B with a force F and team B pulls team A with a force

Q.12 Inagame of tug of war. ata p
F. The tension infthe

Question ID : 7193993036
Status : Answered
Chosen Option : 2

[ /-] | — ALl T L

—
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Q13 As force is to torque, mass is to: 9

Ans X 1. potational K.E.
X 2. radius of gyration

& 3. angular momentum

« 4 moment of inertia

Question ID : 7193993044
Status : Answered
Chosen Option: 2

Q.14 AB s the arc of a circle of radius R whose centre is at O, where it subtends an angle 60°. M is the midpoint of the arc
AB. The centre of mass of the arc lies at a point C on OM such that OC is equal to:
Ans IR
X1 =
21m

v B

T

X B

am

xR

T

Q15 Op increasing the temperatur
Ans X 1. decrease with rise i

« 2. increase with erature

X 3. none of Q

: Question ID : 7193993061
Status : Answered
Chosen Option: 1

Q.16 The term ‘low speed’ a as applied to logic circuits, refer to the
Ans

v propagatl

Question ID : 7193993088
Status : Answered
Chosen Option : 1

Q17 The 1sot0pes of same element have
Video Courses & Test Serles Available For All Teaching Exams
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Ans  of 1. same number of proton but unequal ngmber of neutrons
X 2. same number of proton and neutrons
#< 3. unequal number of proton and neutrons

< 4. same number of neutrons but unequal number of protons

Question ID : 7193993089
Status : Answered
Chosen Option : 1

Q.18 Three statements are given below based on Newton’s Universal Law of Gravitation:

(p) The force between two mases is directly proportional to the product of the masses.
(q) The force between two mases is inversely proportional to the square of the distance between them.
(r) The acceleration with which an apple falls towards the earth is the same as that with which the moon falls towal‘

the earth, assuming they are at the same distance from the earth.

Identify which among these is/are correct?

Ans 5 1, Only (q) ®\
v 2 (p)(q) and (1) A

X 3. (p).(q) but not (r)
X< 4. Only (p)

Q.19 In Young's double slit experiment, the slits are separat
between the fourth bright fringe and the central bright
used in this experiment.

Ans 571350 nm
#< 2. 700 nm
v 3 600 nm

Chosen Option : 3

L 2
L 4
X4 50
Question ID : 7193993078
Status : Answered

Q20 The phase differe path difference (3) are related as:
ans X1 b = (A
&
! (22/m) &

= (21/A) &

Question ID : 7193993077
Status : Answered
Chosen Option : 4
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Ans X 1. 0.6 ms Page 35

X 2 0.5ms
K 3 2ms
(4- 1 ms

Question ID : 7193993068
Status : Answered
Chosen Option : 4

Q22 Optical fibre works on the principle of:

Ans X 1. interference
2. total internal reflection
< 3. refraction
& 4. double refraction

Q.23  Anair-cored solenoid has 300 turns, its length is 25 cm and its cross secti

Ans o 1. 0.1357 mH
< 2. 800 mH
X 3 300H

X 4 1357 mH @
Question ID : 7193993073

Status : Answered
Chosen Option : 4

.24 1In compound microscope, f ngtl jecti - are and 3 cm respectively. If the object is
P P g P Y- )

put 1.25 cm away from bjective lens and the final image is t . the magnifying power of the

microscope is:

Question ID : 7193993076
Status : Answered
Chosen Option : 1

X 2 (1555)A +(35.83)B
'3 (777.5)A +(35.83)B

< 4 (Videp\Caltsest& Test Series Available For All Teaching Exams
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Question ID : 7193993037
Status : Answered
Chosen Option : 4

Q.26 A body is projected up a rough inclined plane of height h and inclination 8 . If the velocity of projection is u. which
makes the body just reach the top, then the coefficient of friction is:

R 2 (& —1)rane
X2 (;E —1)sin6
X (Z“E —~1)cotd
xa (;E — 1) cos8
O
en Option
Q.27

X 2 its frequency increases
« 3 its wavelength decreases
< 4. neither wavelength nor c
Question ID : 7193993074
Status : Answered
Chosen Option: 3

When a ray of light enters a glass slab from adg:
Ans 1. its wavelength increases %

Q.28 The energy stored in a capacitor of capaei ere tween the plate is v is given by:

" X ) z Q
< ZQ v
w9
X 4 1/2c¢? v
® Question ID : 7193993058

Status : Answered
Chosen Option : 3

a maximum drop of 1.5 V. If the supply voltage is 10 V and R, = 470(), then maximum value of LED

Ans 1. 20 mA
X 2 16 mA
v 3 18.1 mA

~ 4 \;.5 mA . . .
ideo Courses & Test Series Avallatr)le For All Teaching Exams X
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Status : Answered

Page 37 Question ID : 7193993083
Chosen Option : 1

Q.30 '
i : Planck’ s constant
The dimension of

) is same as that of :
ngular momentum

Ans X" 1. energy
X 2. wavelength

X 3. frequency
« 4 angle \

@31 1 a certain transistor has I, = 15 mA and Iy = 167 pA, the
ans X1 167 ¢

X2 0011 \
X315 Q
v 2 90

tion ID : 7193993086
Status : Answered
Chosen Option: 2

per sec. How much time a

Q.32 The radicactive disintegration constant i of radiunmis 1.
to reduce 1/10™ of its original value?
Ans " 1. 80.4 years \

X 2 30 years
X35
v
Question ID : 7193993090
Status : Answered
Chosen Option : 2
Q.33 a L 1.
Two no and b are such that, |a+h| = |a—b|
The an eefi 3 and b is:
Ans
o
X 3. 60°
X 4 300

Question ID : 7193993034
us : Angwered
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Q.34 Anastronomical telescope is focused on a distant star. If the distance between the objective lens and the eye piece is 2.5
m and the power of eye piece is 4D:

Ans

< 1. the magnifying power of an telescope is 90
« 2. the power of the objective lens is 0.44D
#< 3. the focal length of the objective is 75 cm
< 4. the magnifying power is 10

Question ID : 7193993079
Status : Answered
Chosen Option : 1

>

Q.35 A sphere of radius 60 cm is charged to a potential difference of 1500 volt. Calculate charge on the sp er? %
s o1 1%x1077C \\
X23x1077C q

X31x%x10°5¢C .

—7F
X4 5x1077C
QA
) 3993057
atus : Answered
Q.36 A man running with a uniform velocity u on a straight roa a bus just starting when it is at a dis
the acceleration of the bus is £, then what is the maximum pos! x that would enable the atch th

bus?

Ans 1. There is no upper limit

X 2 \® N

=]

=
-

[&]

X &
£
g Q“z K
Question ID : 7193993033
Status : Answered
Chosen Option : 1

application of a load so that the longitudinal stress is s; and longitudinal

of the system per unit volume is:

1
< 4 Esls‘z"
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Page 39 Question ID : 7193993049
Status : Answered
Chosen Option: 2

Q38 WWhat js the state of an ideal diode in the region of non-conduction?

Ans X 1. Undefined
& 2. A short circuit
X 3. Unpredictable

« 4 An open circuit

: 7193993084
: Answered

Q.39 Two resistances, when connected in series, have a resistance of 20 €. and when connected in parallel, have a
of 4.8 Q. Find the value of each resistance.

Ans X 1. R;=100,R, =50 . !
v2R,=120,R, =80 \
X3R;=40,R, =80

X4 R,=50R,=120 %Q

5

-
Q.40 Two Carnot engines operate in series. The first e at at 852 °C and rejects to a e
second engine receives this heat and rejects i 0 °C. It is observed that the efi

are equal. Find the value of t. ‘
ans of 1327 \
< 2 354 ¢
<32
X 4.
Question ID : 7193993052
% Status : Answered

Chosen Option: 1
Q41 Permanent dipole ists of which of the following angular momentum?
Ans .

eal) ome . Orbital angular momentum of electron and Electron spin angular momentum

Question ID : 7193993066
Status : Answered
Chosen Option : 1




.42 Each diode in a centre-ta full-wave rectifier is biased a.rEcangg f04'0 of the input cycle.
p PR P put cy

Ans 1. forward, 90°
< 2. reverse , 90°
« 3. forward, 180°
< 4. reverse, 180°

Question ID : 7193993085
Status : Answered
Chosen Option: 3

Q.43 A ball of mass “m” is projected from the origin of co-ordinates with a velocity *u™ making an angle 8 with the

horizontal. At the point (o, ) on the plane of the trajectory of the particle, the total mechanical energy of the ball will
be:
Ans 1 @
2aind
& 1. =mu?sin?6-=
2 B

1 o
& 2. =mu?cos?0-
2 B
1
W 3 —mu?
2

1
< 4 Emuzcnszﬂ

Q44 The quantities B, H and I are
Ans X 1. B = pol + xh
W2 B=p,(H+ I\@
X3 B= M(H@
0

3

Chosen Option: 1

X 4 B
Question ID : 7193993067
Status : Answered

Q45 4 charged particle q moving wi elocityhy in a magnetic field B experiences a force given by F= q(ﬁ X ﬁ) . What
is the work done by the force duri lacement Ar of the charged particle?

Ans Xl
Xz. q A

vBr
Question ID : 7193993035
Status : Answered
Chosen Option : 3
Q.46 Video Courses & Test Series Available For All Teaching Exams
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Two masses 2 kg and 1 kg, which are moving along the same straight l'mﬂ,Eoﬁg Qd %n:l one single body. If a force
applied to stop the masses individually before collision would bring them to rest in distances 1 m and 2 m respectively,
find the distances in which the combined body would come to rest by the application of the same stopping force.

Ans X1 1.5m
V2 267m
X3 1.75m
K4 25m

Question ID : 7193993043
Status : Answered
Chosen Option : 4

Q.47 Two similar wires vibrate in unison with a frequency 400Hz. If the tension in one of the strings increased by x% and the
two wires vibrate simultaneously, then four beats are produced per second. Find the value of x.

@
Ans X1~ 4
23 \\
X3 25

va2

Q48 The diamagnetic susceptibility of a diamagneti
Ans 1. small and positive

X 2. large and negative

« 3. small and negative

/< 4 large and pos& *
2

Chosen Option : 3

Question ID : 7193993065
K Status : Answered

ities of two waves that produ rence pal is 16 : 1. then the ratio of maximum and
in the pattern is:

Ans K109 : 25 %
X2 4:1 \

Question ID : 7193993075
Status : Answered
Chosen Option : 4

Q50 Boron rods in nuclear reactors are used to:
Ans  of 1. absorb excess neutrons
X 2. absorb a-particles

Video Courses & Test Series Available For All Teaching Exams
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/< 3. speed up the reaction Page 42

& 4 slow down the reaction

Question ID : 7193993082
Status : Answered
Chosen Option : 1

@51 Which one among the following is a conservative force field?

Ans X' 1. Friction
< 2 Ajr resistance
X 3.
Force experienced by a current carrying conductor placed in a magnetic field

« 4 Gravitational force between the sun and a planet

Q.52 How many electrons flow per second through an electric bulb rated for 220 V, 40 wat
1.6 X107 C.

Ans X1 2 536 x 1018
&2 1.136x 10¢
< 3.3336x 107
v 1136x 10 @
Question ID : 7193993059

Status : Answered
Chosen Option : 4

at it is under a tension of 20 N. The
perature gets reduced to 20 °C, find
*s Medulus of the material of the wire are

Q.53 A wire of cross-sectional 10
distance between the su sis |

the
oeflicient of linear expansi

m~2 respectively,

X4 40N \
Question ID : 7193993051

Status : Answered
Chosen Option : 1

Q.54 wer factor in a series LCR circuit at resonance is:

Ans  of 1 |
<2 1/42
X 3. zero

< 4 ifimdte Courses & Test Series Available For All Teaching Exams
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Question ID : 7193993069
Status : Answered
Chosen Option: 1

Q.55 A chord is inclined at an angle 8 with the vertical diameter of a vertical circle. The time of fall along this chord is:

Ans 1. proportional to tan8
« 2. independent of 0

# 3. proportional to v/cos8

# 4. proportional to y/tan® \

Q.56 Tpe equation of a plane progressive harmonic wave is y = 4sin=™ (3t—x) , where x and y are in cm tisi
seconds. At a particular instant, what is the phase difference berween two points which are 2.5 cm apart oh the

ans X 1Nl ¢

v \ @
xe 3 q(
uestion ID : 7193993053

Status : Answered
Chosen Option : 4

- . -
Q.57 Arigid body capable of rolling with n a smooth inclined plde of inclination 8 and length s. The
square of the velocity attained by the bodhat the foot of the plane is (1.2)gs.sin 8 . Identify the rigid body.
2 . ¢

Ans X 1. Solid cyl

X2 \%

v ical shell

X 4 Solid,sphere

% Question ID : 7193993045
Status : Answered

Chosen Option: 1

Q.58 Calculate the ity at entre of the coil if there are 100 turns wound on a 25 cm long selenoid carrying a

X 3 1.508x 10~° Wb/m?
< 4 5508 10~* Wb/m?
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Status : Answered
Chosen Option: 2

Q.59 A ball of mass 0.2 kg falls from a height 10 m on a horizontal plane and rebounds. Find the loss of K.E. due to the
impact if the coefficient of restitution is 0.5. (Take g = 10ms™2 )

Ans X1 107
X2 167
3157
X487

Question ID : 7193993040
: Answered

Q60 Flectrolysis is not applicable in the process of:
Ans X 1. purification of metal
« 2. photography
/X 3. electrotyping

/< 4 electroplating
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